S 10 & (x-2) 2 hsmlel $:& o), Ui Rol2 B
o, FS % f(x) & Br-22 S Uo] B} oA

@ Q(x), R @ 3Q(x), R ® Q(x), 3R

@00, k ® 0(x). %R

_ (3x—2)%Q(x) 4R

olmz 7o Tt LA
%200 oA R




2. P tad+bxt+cEx+22 A 30l A, 22— 12 URH
ol of w, abe 9] gt& F-oH?

c} -
=

[ 2
[ =

B ~
X3 +ax’ +bx+c=(x+2)0yx)+3
= (x+ 1)(r— 1)@z

f(=2)=3 f(1)=0 f(-1)=0

x=-2%Y, 8+4a—-2b+c=3

x=-1%%Y, -1+a-b+c=0

x=19%Y, 14+a+b+c=0

FRECTERESE

a=3,b=-1,c=-3

. abc =9




f(x) =353 + px® 4+ qx+12 7hx+2 2% Hro]HofX| 1, 1 -1 B
Hrolgeld o, 4 o greo
p

© 9 @4 ® -9 @ -3 ® -12

f(=2)=-24+4p—-2q+12=0
f(1)=3+p+q+12=0
-12

p:_ga q:_12, 2:—:4
p -3




